


A, M, N, P, Q, R, S, T, U, W, Y और Z बारह व्यक्ति हैं जो दो सकेंन्द्री वर्ााकार टेबल यानी आिंररक टेबल और
बाहरी टेबल में बैठे हैं। आंिररक टेबल बाहरी टेबल से घिरी हुई है। दो व्यक्ति भीिरी टेबल के प्रत्येक
मध्य भार् में बाहर की ओर उन्द्मुख होकर बैठे हैं। उन्द्हें अलर्-अलर् फूल पसंद हैं जैसे चमेली, आइररस,
आर्का ड, ओललयंडर, रु्लाब, ट्यूललप, डजेी और ललली। चार व्यक्ति चार कोनों पर अंदर की ओर उन्द्मुख होकर
बैठे हैं और उन्द्हें अलर्-अलर् ब्ांड जैसे र्फला, रैंर्लर, नाइके और बेनेटन पसंद हैं।
नोट: यदद P, Q के बर्ल में बैठा है िो इसका अर्ा है र्क P और Q आंिररक मेज के एक ही ओर बैठे हैं।
यदद P, Q और R से समदरूस्र् है िो इसका अर्ा है र्क P उस कोने की ओर उन्द्मखु है जो Q के ठीक दायें और
R के ठीक बायें है।
Y और W के मध्य िीन व्यक्ति बैठे हैं। Y को ललली पसंद नहीं है। वह व्यक्ति जो W के दायें से दसूरे स्र्ान
पर बैठा है उसे ऑर्का ड पसदं है। Z, Q के बर्ल में बठैा है। रैंर्लर और नाइके ब्ाडं पसदं करने वाले व्यक्ति के
बीच एक व्यक्ति बैठा है। T क्जसे आइररस पसंद है वह Y और ऑर्का ड पसंद करने वाले व्यक्ति के बर्ल में
नहीं बैठा है। R को ट्यलूलप पसंद है। A जो Z के बायें से िीसरे स्र्ान पर बठैा है, Y के बर्ल में नहीं बठैा है।
M को रु्लाब पसदं है। S, W और R से समान दरूी पर है। U क्जसे र्फला ब्ाडं पसदं है, P के ठीक दायें बठैा है।
वह व्यक्ति क्जसे चमेली पसंद है, डजेी पसंद करने वाले व्यक्ति के दायें से िीसरे स्र्ान पर बैठा है। रैंर्लर
पसंद करने वाला व्यक्ति Y और Z से समान दरूी पर है। Z और Q को ऑर्का ड पसंद नहीं है।



A, M, N, P, Q, R, S, T, U, W, Y and Z are twelve persons sitting in two concentric square tables i.e. the inner
table and the outer table. The inner table is surrounded by the outer table. Two persons sit at each middle
side of the inner table facing outside. They like different flowers i.e. jasmine, iris, orchid, oleander, rose, tulip,
daisy and lily. Four persons sit at four corners facing inside and they like different brands i.e. fila, wrangler,
nike and benetton.
Note: If P sits next to Q then it means P and Q sits on the same side of the inner table.
If P is equidistant from Q and R then it means P faces the corner which is immediate to the right of Q and
immediate to the left of R.
Three person sit between Y and W. Y does not like lily. The person who sits second to the right of W likes
orchid. Z sits next to Q. One person sit between the person who likes wrangler and nike brand. T who likes
iris does not sit next to Y and the person who likes orchid. R likes tulip. A who sits 3rd to the left of Z does not
sit next to Y. M likes rose. S is equidistant from W and R. U who likes fila brand sits immediate right of P. the
person who likes jasmine sits 3rd to the right of the person who likes daisy. The person who likes wrangler is
equidistant from Y and Z. Z and Q does not like orchid.





Q1. N likes _ and sits _ ?
A. Benetton, immediate right of S
B. Oleander, 2nd to the right of R
C. Oleander, 2nd to the left of R
D. Wrangler, immediate right of U
E. None of these

Q2. Which of the following statement is true ?
A. Q sits 3rd to the right of R
B. M sits next to R
C. N likes Wrangler
D. Two person sit between M and A
E. W likes Jasmine

Q3. Who sits immediate right of S ?
A. Z
B. Q
C. N
D. T
E. None of these

Q4. How many persons sit between T and M when counted from the right of 
M?
A. 1
B. 2
C. 3
D. 4
E. None of these

Q5.  U is equidistant from __ and __ ?
A. M, A
B. Z, Y
C. T, Q
D. W, R
E. None of these



P % Q का अर्ा है P और Q एक दसूरे के बर्ल में नहीं बैठे हैं।
P ~ Q का अर्ा है P और Q समान ददशा की ओर उन्द्मखु हैं
P ! Q का अर्ा है P और Q का मखु ववपरीि ददशा में है।
P & Q का अर्ा P, Q से दसूरे स्र्ान पर बैठा है
P ^ Q का अर्ा P, Q के बायें बैठा है
P @ Q का अर्ा है P, Q के दायें बैठा है।
P # Q का अर्ा P, Q के बर्ल में बैठा है
P $ Q का अर्ा P, Q से िीसरे स्र्ान पर बैठा है
P #^ Q का अर्ा P, Q के ठीक बाएं बैठा है
P &~ Q का अर्ा P, Q से दसूरे स्र्ान पर बैठा है और दोनों का मखु समान ददशा की ओर है।
साि व्यक्ति एक पंक्ति में बैठे हैं। उनमें से चार उत्तर की ओर उन्द्मखु हैं।
P $~ U; R % Q; P @ U; S % R; T #^ U; R ~ S; V ! U; S ~ V; T ! R; Q ! T; T &@ V; Q &^ S



P % Q means P and Q do not sit next to each other.
P ~ Q means P and Q face same direction
P ! Q means P and Q face opposite direction.
P & Q means P sits at a second position from Q
P ^ Q means P sits to the left of Q
P @ Q means P sits to the right of Q.
P # Q means P sits next to Q
P $ Q means P sits at the third position from Q
P #^ Q means P sits immediate left of Q
P &~ Q means P sits at a second position from Q and both are facing same direction.
Seven persons are sitting in a row. Four of them are facing north. 
P $~ U; R % Q; P @ U; S % R; T #^ U; R ~ S; V ! U; S ~ V; T ! R; Q ! T; T &@ V; Q &^ S





Q6. Who sits 2nd to the left of R ?
A. U
B. V
C. S
D. Q
E. None of these

Q7. How many persons sit to the right of V ?
A. 2
B. 3
C. 4
D. 1
E. None of these



P # QR का अर्ा है सभी Q, P हैं और सभी R, P हैं
P $ QR का अर्ा है कुछ Q, P हैं और कुछ R, P हैं
P @ Q का अर्ा है कोई Q, P नहीं है
P % Q का अर्ा है र्क कुछ Q, P हैं और कुछ Q, P नहीं हैं
P ^ Q का अर्ा है कुछ Q, P हैं
P ( Q का अर्ा है सभी Q, P हैं
~ मिलब संभावना का मामला
! मिलब घनक्चचि रूप से नहीं
नोट : यदद उपरोति चचन्द्ह में से र्कसी के बाद ~ लर्ाया जािा है िो इसे प्रिीक की संभावना के मामले के रूप में माना
जाएर्ा।
यदद ! ऊपर उक्ललखखि र्कसी प्रिीक के बाद रखा जािा है िो इसे प्रिीक का घनक्चचि रूप से नहीं मामला माना जाएर्ा।
उदाहरण के ललए: P (~ Q का अर्ा है सभी Q के P होने की संभावना है।
P (! Q का अर्ा है र्क सभी Q घनक्चचि रूप से P नहीं हैं
Q8. निम्िलिखित में से कौि सा/से निष्कर्ष अिुसरण करता है/हैं
कथि : S ( Z # WN @ H ^ E; Q # XA@ E
निष्कर्ष :
I. X ^~ A
II. E #~ WN
III. H ( IZ
A. Only I follows
B. Only III follows
C. All follows
D. Both I and II follows
E. None follow



P # QR means All Q are P and All R are P
P $ QR means Some Q are P and Some R are P
P @ Q means No Q is P
P % Q means Some Q are P and Some Q are not P
P ^ Q means Some Q are P
P ( Q means All Q are P
~ means possibility case
! means definitely Not
Note: If ~ is placed after any of the symbol mentioned above then it will be considered as the possibility case of the symbol.
If ! Is placed after any of the symbol mentioned above then it will be considered as the definitely Not case of the symbol.
For example: P (~ Q means All Q being P is a possibility.
P (! Q means All Q are definitely not P
Q8. Which of the following conclusions is/are follows
Statement: S ( Z # WN @ H ^ E; Q # XA@ E
Conclusions:
I. X ^~ A
II. E #~ WN
III. H ( IZ
A. Only I follows
B. Only III follows
C. All follows
D. Both I and II follows
E. None follow



P $ Q का अर्ा केवल कुछ P, Q हैं
P * Q का मिलब कोई P Q नहीं है
P # Q का अर्ा है सभी P, Q हैं
P % Q का अर्ा है कुछ P, Q हैं
P ^ Q का अर्ा केवल P, Q है

Q9. घनष्कर्ा:
कुछ आम केले नहीं हैं
सभी अरं्रू कभी िरबूज नहीं हो सकिे

कर्न:
A. आम% िरबूज। िरबूज # केला। केला *अरं्रू। अरं्रू $ पपीिा।
B. िरबूज ^ आम। िरबूज * केला। केला *अरं्रू। अरं्रू $ पपीिा।
C. आम% िरबूज। िरबूज * केला। केले # अरं्रू। अरं्रू $ पपीिा।
D. आम% िरबूज। केले # अरं्रू। अरं्रू * पपीिा। िरबूज% केला।
E. इनमें से कोई नहीं



P $ Q means Only a few P are Q
P * Q means No P is Q
P # Q means All P are Q
P % Q means Some P are Q
P ^ Q means Only P are Q

Q9. Conclusions:
Some mango are not banana
All grapes can never be watermelon

Statements:
A. Mango % watermelon. Watermelon # banana. Banana * grapes. Grapes $ papaya.
B. Watermelon ^ mango. Watermelon * banana. Banana * grapes. Grapes $ papaya.
C. Mango % watermelon. Watermelon * banana. Banana # grapes. Grapes $ papaya.
D. Mango % watermelon. Banana # grapes. Grapes * papaya. Watermelon % banana.
E. None of these



A ( B means A is the brother of B
A * B means A is the wife of B
A # B means A is the father of B
A % B means A is the mother of B
A ^ B means A is the sister of B
A ! B means A is the husband of B

Z * J # W; T ^ C ! G; W ! T; S % C # P; S * D

A ( B का अर्ा है A, B का भाई है
A * B का अर्ा है A, B की पत्नी है
A # B का अर्ा है A, B का वपिा है
A % B का अर्ा है A, B की मािा है
A ^ B का अर्ा है A, B की बहन है
A ! B का अर्ा है A, B का पघि है



Q10. Which of the following is true ?
A. J # T
B. G % P
C. S % W
D. G ^ D
E. D # W

Q11. How is G related to D ?
A. Daughter in law
B. Mother in law
C. Sister in law
D. Son in law
E. Daughter



Q12. Which of the following statements should be added to the original statement S ( Z # WN @
H ^ E; Q # XA@ E so that the conclusion Q ^ S is definitely true ?
घनम्नललखखि में से कौन सा कर्न मलू कर्न S (Z # WN @ H ^ ​​E; Q # XA @ E में जोडा जाना
चादहए िार्क घनष्कर्ा Q ^ S घनक्चचि रूप से सत्य हो?
A. A ^ W
B. X ( A ^ H
C. S # EH
D. More than one option
E. None of these



शतेँ:
यदि एक विर्म संख्या के बाि िसूरी विर्म संख्या आती है तो पररणाम िोिों संख्याओं का योग होगा।
यदि एक सम संख्या के बाि िसूरी सम संख्या आती है तो पररणामी िोिों संख्याओं का घटाि होगा।
यदि एक विर्म संख्या के बाि िसूरी सम संख्या आती है तो पररणाम िोिों संख्याओं के अंकों का योग होगा।
यदि एक सम संख्या के बाि िसूरी विर्म संख्या आती है तो पररणाम िोिों संख्याओं के अंकों का गुणिफि होगा।
Row 1: X    17    11
Row 2: 24   Y     16
Row 3: 27   Z     18

Q. यदि Z िोिों पंक्ततयों के पररणाम का योग है तो पंक्तत 3 का पररणाम तया होगा?

Input Step 1 Step 2 Step 3 Final Code

Gaurav Tbvibe Tvie4 25H X

Shivansh Hsjebmhs Jebm54 23M 9

Lopay Opkbb Opk4 26G 15

Kajal Pbqbo Pqo4 31G Y



Conditions: 
1. If an odd number is followed by another odd number then the resultant will be addition of both the 

numbers.
2. If an even number is followed by another even number then the resultant will be subtraction of both the 

numbers.
3. If an odd number is followed by another even number then the resultant will be sum of digits of both the 

numbers.
4. If an even number is followed by another odd number then the resultant will be product of digits of both the 

numbers.

Row 1: X    17    11
Row 2: 24   Y     16
Row 3: 27   Z     18
Q13. If Z is the sum of the resultant of both the rows then what is the resultant of Row 3? 

Input Step 1 Step 2 Step 3 Final Code

Gaurav Tbvibe Tvie4 25H X

Shivansh Hsjebmhs Jebm54 23M 9

Lopay Opkbb Opk4 26G 15

Kajal Pbqbo Pqo4 31G Y



शतेँ:
यदि एक विर्म संख्या के बाि िसूरी विर्म संख्या आती है तो पररणाम िोिों संख्याओं का योग होगा।
यदि एक सम संख्या के बाि िसूरी सम संख्या आती है तो पररणामी िोिों संख्याओं का घटाि होगा।
यदि एक विर्म संख्या के बाि िसूरी सम संख्या आती है तो पररणाम िोिों संख्याओं के अंकों का योग होगा।
यदि एक सम संख्या के बाि िसूरी विर्म संख्या आती है तो पररणाम िोिों संख्याओं के अंकों का गुणिफि होगा।
Row 1: 31   22    6
Row 2: 15   10    ?

प्र. यदि िोिों पंक्ततयों के पररणाम का योग " Tamanna " के अंनतम कोड के बराबर है, तो प्रश्ििाचक चचह्ि के 
स्थाि पर तया आिा चादहए?

Input Step 1 Step 2 Step 3 Final Code

Gaurav Tbvibe Tvie4 25H X

Shivansh Hsjebmhs Jebm54 23M 9

Lopay Opkbb Opk4 26G 15

Kajal Pbqbo Pqo4 31G Y



Conditions: 
1. If an odd number is followed by another odd number then the resultant will be addition of both the 

numbers.
2. If an even number is followed by another even number then the resultant will be subtraction of both the 

numbers.
3. If an odd number is followed by another even number then the resultant will be sum of digits of both the 

numbers.
4. If an even number is followed by another odd number then the resultant will be product of digits of both the 

numbers.

Row 1: 31   22    6
Row 2: 15   10    ?
Q14. What should come in place of question mark if sum of the resultant of both rows is equal to the final code of 
“Tamanna”? 

Input Step 1 Step 2 Step 3 Final Code

Gaurav Tbvibe Tvie4 25H X

Shivansh Hsjebmhs Jebm54 23M 9

Lopay Opkbb Opk4 26G 15

Kajal Pbqbo Pqo4 31G Y



Input:  Dhawan  Lord  Anindya Varun  Sid  Virtuous
Step 1:   Dhwn Lord      Idy Varun  Sid    Virtos
Step 2:    18W     16O    34Iy        36Au   23Si    41Ios
Step 3:     14         13       23           13        24       30
Step 4:      4           3          5             6          6         0

Input: Adamant   Bubble   Occurrence  Element   Idiotic  Giggle



Q15. How many letters are there(in English alphabetical order) between the 2nd letter of the 2nd word from 
the left end and 3rd letter of the 3rd word from the right end in step 1?
A. 3
B. 2
C. 1
D. 4
E. 0

Q16. Which is the 2nd element to the right of 4th element from the right end in step 2?
Q17. What is the sum of the digits in step 3?
A. 38 B. 36 C. 32 D. 34 E. None of these

Q18. What is the square of the highest number in Step 4 ?
A. 121
B. 144
C. 100
D. 81
E. 64



पंरह बॉतस A से O को िीन कॉलम (Z1, Z2 और Z3) में नीचे की पंक्ति से शीर्ा पंक्ति िक एक के ऊपर एक इस िरह रखा
र्या है र्क प्रत्येक पंक्ति में िीन बॉतस हैं और प्रत्येक कॉलम में पांच बॉतस हैं। प्रत्येक पंक्ति में बाएं से दाएं बतसे की
संख्या 1 से 3 है। इनमें से प्रत्येक बॉतस में अलर्-अलर् फल हैं जैसे सेब, अनानास, ब्लूबेरी, अरं्ूर, पपीिा, केला, िरबूज,
संिरा, खजूर, कीवी, अमरूद, बेर, चेरी, आम और रास्पबेरी, जरूरी नहीं र्क इसी क्रम में हों। H को र्कसी एक कॉलम के
मध्य में रखा र्या है। O की बॉतस संख्या 2 नहीं है। N और केले के मध्य दो बॉतस हैं। केले के बॉतस को एक सम
संख्या वाली पंक्ति में रखा र्या है। संिरा का बॉतस N के ठीक बाईं ओर रखा र्या है। D के ऊपर और L के नीचे रखे र्ए
बतसों की सखं्या समान है और L और D दोनों एक ही कॉलम में रखे र्ए हैं। बेर का बॉतस L के ठीक बाईं ओर रखा र्या है।
B और बेर बॉतस के बीच दो बॉतस रखे र्ए हैं। L में केला नहीं है। E और F के बीच एक कॉलम है। K और रास्पबेरी के बीच
एक बॉतस है। K को या िो पहली या िीसरी पंक्ति में रखा र्या है। J, I के ठीक नीचे रखे र्ए के बाएं से दसूरे स्र्ान पर
रखा र्या है। सेब और िरबूज के बॉतस के बीच िीन बॉतस रखे र्ए हैं। िरबूज के बॉतस को 5वीं पंक्ति में नहीं रखा
र्या है। N में न िो िरबूज और न ही सेब है। ब्लूबेरी बॉतस को C के ठीक दायें रखा र्या है। N को ववर्म संख्या वाली
पंक्ति पर रखा र्या है। D को एक सम संख्या वाली पकं्ति पर रखा र्या है। I में ब्लूबेरी नहीं है। G को पपीिे के ठीक नीचे
रखा र्या है लेर्कन उसमें सिंरा नहीं है। O में खजूर है और इसे H के दाईं ओर रखे र्ए बॉतस के ठीक नीचे रखा र्या है।
M और अरं्ूर के बॉतस के बीच दो बॉतस रखे र्ए हैं। B को पहली पंक्ति में नहीं रखा र्या है। H में अमरूद नहीं है। चेरी
और कीवी बॉतस के बीच एक बॉतस रखा र्या है। B और F को अलर्-अलर् कॉलम में रखा र्या है। N में चेरी नहीं है। K
बॉतस नंबर 1 है। H में रास्पबेरी नहीं है। C में अनानास होिा है। E में अरं्ूर नहीं है। I और G को पकं्ति-3 में रखा र्या है
जबर्क N को पंक्ति-1 में रखा र्या है।



Fifteen boxes A to O are placed one above the other from bottom row to top row in three columns (Z1, Z2 and Z3) such
that in each row there are three boxes and in each column, there are five boxes. The boxes from left to right in each row
are numbered 1 to 3. Each of these box contain different fruit i.e. apple, pineapple, blueberry, grapes, papaya, banana,
watermelon, orange, date, kiwi, guava, plum, cherry, mango and raspberry, not necessarily in the same order. H is placed
at the middle in one of the column. O is not box number 2. Two boxes are between N and Banana. The Banana box is
placed on an even numbered row. The Orange box is placed to the immediate left of N. Number of boxes placed above D
and below L are same and both L and D are placed in same column. The plum box is placed to the immediate left of L. Two
boxes are placed between B and the plum box. L does not contain Banana. One column is between E and F. One box is
between K and the raspberry. K is placed either on the 1st or on the 3rd row. J is placed second to the left of the one which
is placed just below I. Three boxes are placed between apple and watermelon box. The watermelon box is not placed on
the 5th row. N neither contains watermelon nor apple. The blueberry box is placed to the immediate right of C. N is placed
on an odd numbered row. D is placed on an even numbered row. I does not contain blueberry. G is placed just below
papaya but does not contains orange. O contains date and is placed just below the box which is placed to the right of H.
Two boxes are placed between M and grape’s box. B is not placed on the 1st row. H does not contains guava. One box is
placed between cherry and kiwi box. B and F are placed in different column. N does not contains cherry. K is box number
1. H does not contains raspberry. C contains pineapple. E does not contains grapes. I and G are placed at row-3 whereas N
is placed at row-1.





Q19. Which box is placed at row 2 and column 2 ? 
Q20. Which box is placed at row 3 and column 3 ? 
Q21. Which box is placed at row 4 and column 1 ? 
Q22. Which box is placed at row 5 and column 3 ? 
Q23. Which box is placed at row 1 and column 2 ? 



एक निक्श्चत कोड भार्ा में, सभी व्यंजि 1 से 5 तककी सखं्या के रूप में कोड होते हैं, जो B से शुरू होते हैं
(उिा: B-1, C-2….G-5, H-1..) औरसभी स्िरों को अकंों के योग के रूप में कोडडत ककया जाता है(एकअकं
तक) विपरीत अक्षर के स्थािीय माि का (उिाहरण: A - 8)|

इसके अिािा, निम्िलिखित शतें िागू होती हैं:
1. यदि पहिा और अनंतम अक्षर व्यंजि हैं, तो उन्हें इस प्रकार कोडडत ककया जाता है|
2. यदि पहिा और अनंतम अक्षर स्िर हैं, तो उन्हें $ के रूप में कोडडत ककया जाता है।
3. यदि पहिा अक्षर स्िर है और अनंतम अक्षर व्यंजि है, तो िोिों कोड आपस में बिि दिए जाते 
हैं।
4. यदि पहिा अक्षर व्यंजि है और अनंतम अक्षर स्िर है, तो िोिों को िसूरे अक्षर के कोड के रूप 
में कोडडत ककया जाता है।
प्र24. “TRAILER” का कूट तया है?
A. #48744#
B. #48945#
C. #48844#
D. #48955#
E. None of these



In a certain code language, all consonants are codes as numbers from 1 to 5 starting with B (Ex : B-1, 
C-2….G-5, H-1..) and all vowels are coded as sum of digits(till single digit) of place value of the 
opposite letter(Ex : A – 8).
Further, following conditions are applied:
1. If the 1st and last letter are consonants, then they are coded as #.
2. If the 1st and last letter are vowels, then they are coded as $.
3. If the 1st letter is vowel and last letter is consonant, then both codes are interchanged.
4. If the 1st letter is consonant and last letter is vowel, then both are coded as the code of 2nd letter.

Q24. What is the code for “TRAILER”?
A. #48744#
B. #48945#
C. #48844#
D. #48955#
E. None of these



एक निक्श्चत कोड भार्ा में, सभी व्यंजि 1 से 5 तककी सखं्या के रूप में कोड होते हैं, जो B से शुरू होते हैं
(उिा: B-1, C-2….G-5, H-1..) औरसभी स्िरों को अकंों के योग के रूप में कोडडत ककया जाता है(एकअकं
तक) विपरीत अक्षर के स्थािीय माि का (उिाहरण: A - 8)|

इसके अिािा, निम्िलिखित शतें िागू होती हैं:
1. यदि पहिा और अनंतम अक्षर व्यंजि हैं, तो उन्हें इस प्रकार कोडडत ककया जाता है|
2. यदि पहिा और अनंतम अक्षर स्िर हैं, तो उन्हें $ के रूप में कोडडत ककया जाता है।
3. यदि पहिा अक्षर स्िर है और अनंतम अक्षर व्यंजि है, तो िोिों कोड आपस में बिि दिए जाते 
हैं।
4. यदि पहिा अक्षर व्यंजि है और अनंतम अक्षर स्िर है, तो िोिों को िसूरे अक्षर के कोड के रूप 
में कोडडत ककया जाता है।
प्र25. “MANIA” का कूट तया है?
A. 58198
B. 88198
C. 58195
D. 88195
E. None of these



In a certain code language, all consonants are codes as numbers from 1 to 5 starting with B (Ex : B-1, 
C-2….G-5, H-1..) and all vowels are coded as sum of digits(till single digit) of place value of the 
opposite letter(Ex : A – 8).
Further, following conditions are applied:
1. If the 1st and last letter are consonants, then they are coded as #.
2. If the 1st and last letter are vowels, then they are coded as $.
3. If the 1st letter is vowel and last letter is consonant, then both codes are interchanged.
4. If the 1st letter is consonant and last letter is vowel, then both are coded as the code of 2nd letter.

Q25. What is the code for “MANIA”?
A. 58198
B. 88198
C. 58195
D. 88195
E. None of these


	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30

